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d L, ¢ Vi
indUCtl(’) A switch § 4 Ss connected to 4 registance R and two ideal inductors L,
to flow 0 SWitch g is Initia]] oW, There jg N0 mutual inductance between the two
- Which of the fo lowing oy °pen: Att =0, the switch is closed and current begins

Ptions is/are correct?

L,
Li+ L,

s through L, and L, is fixed at all times (¢ > 0)
er a long time, the current through L, will be E =2

'jAf}/ After a long time, the current through L, will be
L@J/"ljfe ratio of the current

(S Af

[D] Att= 0, the current through the resistance R is%

14
R

—_—

Li+L;

Q.14 The instantaneous voltages at three terminals marked X, Y and Z are given by
Vx = Vysinwt,
Vy = Vosin(wt + Z) and
4m
Vz = Vysin (wt + ?) .

i i the potential difference between its
deal voltmeter is configured to read rms value of the po
f;?n:inals. It is connected between points X and Y and then between Y and Z. The

reading(s) of the voltmeter will be

1
[A] W7 = Vo‘[z

(B] independent of the choice of the two terminals

[C] VWS = Vo

3
) v = oy

**3
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